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Level 3 History, 2016
91436  Analyse evidence relating to an historical event 

of significance to New Zealanders

9.30 a.m. Friday 18 November 2016 
Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Analyse evidence relating to an 
historical event of significance to New 
Zealanders.

Analyse, in depth, evidence relating 
to an historical event of significance to 
New Zealanders. 

Comprehensively analyse evidence 
relating to an historical event of 
significance to New Zealanders. 

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

Pull out Resource Booklet 91436R from the centre of this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2 – 11 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

ASSESSOR’S USE ONLY

TOTAL 10
Achievement

No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.















Achieved  Exemplar  2016  

Subject:   History   Standard:   91436   Total  score:   10  

Q   Grade  
score   Annotation  

1   A4  

Causes  and  effects  are  described,  but  not  in  depth.  The  Poll  Tax  is  
misinterpreted.  Response  is  largely  drawn  from  the  sources,  but  as  narrative,  
not  as  evidence.  For  a  M,  this  response  would  need  to  be  more  explicit  about  
causes  and  effects,  and  offer  a  better  constructed  narrative  supported  by  
evidence  from  the  sources.  

2   N2  

This  is  very  close  to  an  A3  but  the  response  never  really  addresses  the  
way  migrants  were  viewed  in  the  past.  Some  evidence  /  examples  are  
provided  for  the  way  migrants  are  viewed  in  the  present.  A  clear  A3  
would  accurately  describe  the  situation  in  the  past  and  present  and  an  
A4  would  use  some  evidence  in  support  of  that  description.  To  get  to  M,  
some  explicit  contrast  between  the  two  periods  would  likely  be  required.  

3             A4  

Has  interpreted  the  sources  correctly,  identifying  Source  F  as  commenting  on  
the  hypocritical  nature  of  the  comments  made  by  the  characters.  But  there  is  
only  implicit  comment  on  the  usefulness  and  reliability  of  the  sources,  and  the  
response  does  not  go  beyond  describing  the  content  of  the  sources.  To  get  to  
M  the  response  would  need  to  offer  some  more  specific  analysis  of  some  
facet  of  usefulness  and  reliability  of  both  sources.  


